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then f'(4) is:
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2. Find the derivative of y = (z* — 3)(7*) at z = 2. Note that %(a’”) = (Ina)a”
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3. Find y" if y = sin(z?). yy = S?V\ U WLe ve U= X, {0
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5. Find the slope of the line tangent to the curve given by the equation

tan(zy) = 8y*> — sinz
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6. Find the derivative — when y = z"7. 5: hx
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7. Find the slope of the line tangent to the graph y = z(Inx)* when z =e.
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8. If the radius of a circular ink blot is growing at a rate of 3 cm/min, how fast (in cm?/min)
is the area of the blot growing when the radius is 10 cm?
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9. Which of these is equal to sinh x cosh 7
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10. There is 100 grams of a certain radioactive element at noon. At 2:00 PM there is 50
grams. How much will there be at 3:00 PM?
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11. Let f(z) = sinh(cos z) — cosh(sinz). Find the exact value of f'(7/2).
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12. A street light is mounted at the top of a 15-ft-tall pole. A man 6 ft tall walks away from
the pole along a straight path. The tip of his shadow is moving at the speed of 5 ft/s
when he is 40 ft away from the pole. How fast is the man walking at that instant ?

@
A. 4ft/s ' \\l\ ,S 7 -x
5ft/$ ‘6 ( et B
b |5 6
C. Eft/s |
3 ft/s K | '
1 - =
E. gft/s € s / ’,51(6 i

K now ,-;5
Want Ao( ?(f'f("?)

At .3
]«,55/

A$ 3 r_
§0 %:S}Z{-Zgg’s




